CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F

6th STREET PEDESTRIAN CROSSING

PROJECT NO. ST10-1865 / CIP NO. 50807

JUNE 10, 2011

ORIGINAL CONTRACT AMOUNT: \$192,292.10 CONTRACTOR: KRM CONCRETE LLC

			CURRENT					
LINE	DESCRIPTION	UNIT	CONTRACT	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	MOBILIZATION	LS	1.00	\$6,200.00	\$6,200,00	1,00	\$6,200.00	\$0.00
	INCIDENTAL	LS	1.00	\$5,400.00	\$5,400.00	1.00	\$5,400,00	\$0.00
- 1	CONSTRUCTION STAKING	LS	1.00	\$5,800.00	\$5,800.00	1.00	\$5,800.00	\$0.00
	CLEARING & GRUBBING	LS	1.00	\$1,200.00	\$1,200,00	1.00	\$1,200.00	\$0.00
	REMOVE TYPE "B" GRATE	EA	1.00	\$200.00	\$200.00	1.00	\$200.00	\$0.00
	REMOVE & SALVAGE LIGHT POLE AND TRAFFIC SIGNAL MAST,			·				
_ •	COMPLETE	EA	2.00	\$800.00	\$1,600.00	2.00	\$1,600.00	\$0.00
7	REMOVE & SALVAGE PEDESTRIAN CROSSWALK LIGHT	EA	3.00	\$265.00	\$795.00	3.00	\$795.00	\$0.00
	SAWING, CONCRETE PAVEMENT /				****	222.52		
	CURB & GUTTER	LF	393.00	\$2.50	\$982.50	393.00	\$982.50	\$0.00
	SAWING, CONCRETE SIDEWALK	LF	74.00	\$2.00	\$148.00	74.00	\$148.00	\$0.00
	REMOVE PCC PAVEMENT	SY	410.00	\$22.00	\$9,020.00	376.10	\$8,274.20	(\$745.80)
	REMOVE PCC MEDIAN PAVEMENT	SY	286.70	\$22.00	\$6,307.40	286.70	\$6,307.40	\$0.00
12	REMOVE PCC PANEL	SY	24.30	, \$24.00	\$583.20	24.30	\$583.20	\$0.00
	REMOVE CONCRETE CURB & GUTTER	<u>L</u> F	356.50	\$6.00	\$2,139.00	356.50	\$2,139.00	\$0.00
14	REMOVE CONCRETE FILLET & PAN	EA	1.00	\$500.00	\$500.00	0.00	\$0.00	(\$500.00)
1	REMOVE PCC SIDEWALK	SY	231.00	\$6.50	\$1,501.50	231.00	\$1,501.50	\$0.00
1	REMOVE RETAINING WALL	LF	50.00	\$5.00	\$250.00	50.00	\$250.00	\$0.00
17	REMOVE LIGHT POLE FOOTING	EA	8.00	\$75.00	\$600.00	7.00	\$525.00	(\$75.00)
	REMOVE & SALVAGE LIGHT POLE, COMPLETE	EA	2.00	\$700.00	\$1,400.00	2.00	\$1,400.00	\$0.00
19	REMOVE PAVEMENT MARKING, STRIPES	LF	1,585.00	\$1.60	\$2,536.00	1,262.00	\$2,019.20	(\$516.80)
20	REMOVE PAVEMENT MARKING, ARROW	EA	4.00	\$52.00	\$208.00	0.00	\$0.00	(\$208.00)
21	AASHTO T-180 SOIL TEST	1.00	3.00	\$250.00	\$750.00	1.00	\$250.00	(\$500.00)
22	MODIFIED PROCTOR SOIL TEST	ĒΑ	1.00	\$450.00	\$450.00	1.00	\$450.00	\$0.00
23	EXCAVATION, UNCLASSIFIED	CY	200.00	\$6.00	\$1,200.00	73.20	\$439.20	(\$760.80)
	TOPSOIL & COMPOST MIXTURE, FURNISH & PLACE	CY	95.00	\$35.00	\$3,325.00	95.00	\$3,325.00	\$0.00
	SEEDING, FERTILIZING, MULCHING, & IRRIGATION C4	SY	800.00	\$3.10	\$2,480.00	800.00	\$2,480.00	\$0.00
26	3'x 4' DROP INLET COVER	EA	1.00	\$1,200.00	\$1,200.00	0.60	\$720.00	(\$480.00)
27	5.5X5.5 TYPE B INLET	EA	1.00	\$2,250.00	\$2,250.00	1.00	\$2,250.00	\$0.00
28	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$750.00	\$750.00	1.00	\$750.00	\$0.00

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	9" WATTLES	LF	334,00	\$4.00	\$1,336.00	80.00	\$320.00	(\$1,016.00)
2.0	EROSION CONTROL, INLET					"		
30	PROTECTION	ĘΑ	12.00	\$180.00	\$2,160.00	5.00	\$900.00	(\$1,260.00)
31	CONCRETE WASHOUT AREA	EA	1.00	\$800.00	\$800.00	0.00	\$0.00	(\$800.00)
<u>*</u> -	PCC PAVEMENT, MEDIAN PAVING							`
32	4" - COLORED	SF	2,906.00	\$4.55	\$13,222.30	2,747.00	\$12,498.85	(\$723.45)
	PCC PAVEMENT, MEDIAN, 4",	·						
33	COLORED/STAMPED (planter)	SF	898.00	\$12.00	\$10,776.00	924.00	\$11,088.00	\$312.00
	PCC PAVEMENT PANEL			Ï				
	REPLACEMENT, 10" -						1	
34	UNREINFORCED	SY	24.30	\$50.00	\$1,215.00	24.30	\$1,215.00	\$0.00
35	AGGREGATE BASE COURSE, 3/4"	Ť	100.00	\$16.00	\$1,600.00	72.64	\$1,162.24	(\$437.76)
	CONCRETE CURB & GUTTER,							
36	TYPE B6-10	LF	372.50	\$22.00	\$8,195.00	404.50	\$8,899.00	\$704.00
	CONCRETE FILLET & PAN, 10"	-						
37	REINFORCED	SY	48.00	\$68.50	\$3,288.00	0.00	\$0.00	(\$3,288.00)
				Ì				
	CONCRETE SIDEWALK, 4"							
38	REINFORCED (with gravel cushion)	SF	2,307.00	\$4.15	\$9,574.05	2,369.30	\$9,832.60	\$258.55
	CONCRETE SIDEWALK, 4",							
39	COLORED (with gravel cushion)	SF	724.50	\$4.30	\$3,115.35	724.50	\$3,115.35	\$0.00
	CONCRETE SIDEWALK, 4",			1			A4 100 50	00.00
40	ACCESS RAMP	SF	290.00	\$4.85	\$1,406.50		\$1,406.50	\$0.00 \$0.00
41	DETECTABLE WARNING PANEL	SF	40.00	\$25.00	\$1,000.00	40.00	\$1,000.00	\$0.00
[CONCRETE TYPE C RETAINING		400.00	040.00	#4 700 00	400 00	£4 700 00	\$0.00
42	WALL (0-2')	LF	108.00	\$16.00	\$1,728.00	108.00	\$1,728.00	\$0.00
1	IRRIGATION CONDUIT - 2" PVC SCH		405.00	60.05	COEC OF	105.00	\$656,25	\$0,00
43	20	LF	105.00	\$6.25 \$16,500.00	\$656.25 \$16,500.00		\$16,500.00	\$0.00
44	INCIDENTAL WORK (ELECTRICAL)	LS	1.00 41.00	\$16,300.00	\$3,936.00		\$4,416.00	\$480.00
45	2' DIAMETER FOOTING	LF LF	26.00	\$112.00	\$2,912.00		\$2,912.00	\$0.00
46	3' DIAMETER FOOTING	LF	20.00	ÿ 11Z.00	ΨΖ,Ο12.00	20.00	Ψ2,012.00	
	PEDESTRIAN CROSSING SIGN (R10-	EA	4.00	\$105.00	\$420.00	4.00	\$420.00	\$0.00
47	3E), 3RT, 1LT	EA	4.00	ψ100.00	Ψ-20.00	1.00	ψ120.00	\$0.00
1.0	3-SECTION VEHICLE SIGNAL HEAD	EA	2.00	\$670.00	\$1,340.00	2.00	\$1,340.00	\$0.00
48	W/RIGHT ARROWS (13-14)	LIA.	2.00	Ψ010.00	\$ 1,0 TOTO		V 1, V 13133	, , , , , , , , , , , , , , , , , , ,
1 40	PEDESTRIAN SIGNAL HEAD (9-12) LED TYPE COUNTDOWN	EA	4.00	\$572.00	\$2,288.00	4.00	\$2,288.00	\$0.00
49 50	PEDESTAL SIGNAL POLE	EA EA	3.00	\$696.00	\$2,088.00		\$2,088.00	\$0.00
51	PRE-FORMED DETECTOR LOOP	EA	2.00	\$652.00	\$1,304.00		\$0.00	(\$1,304.00)
52	PEDESTRIAN PB POLE	EA	1,00	\$214.00	\$214.00		\$214.00	\$0.00
1 2	LEDEOTRIAIT D) OLL			+ 2 0 0	,			
53	24" NON-METALLIC JUNCTION BOX	EA	4.00	\$293.00	\$1,172.00	3.00	\$879.00	(\$293.00)
54	2" RIGID CONDUIT, SCHEDULE 40	LF	470.00	\$5.00	\$2,350.00		\$2,350.00	\$0.00
- 54	BORING UNDER EXISTING		 					
55	ROADWAY	LF	140.00	\$21.10	\$2,954.00		\$2,954.00	\$0.00
56	3" RIGID CONDUIT, SCHEDULE 80	LF	140.00	\$14.65	\$2,051.00	140.00	\$2,051.00	\$0.00
57	4" RIGID CONDUIT, SCHEDULE 40	LF	80.00	\$5.90	\$472.00		\$472.00	\$0.00
58	1/C #6 AWG COPPER WIRE	LF	250.00	\$1.20	\$300.00	250.00	\$300.00	\$0.00

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
11 - 141	1/C #10 AWG COPPER WIRE (PULL	OHIT	40741177					
59	WIRE)	LF	320.00	\$0.70	\$224.00	320.00	\$224.00	\$0.00
	3" RIGID CONDUIT, SCHEDULE 40	LF	60.00	\$9.75	\$585.00	60.00	\$585.00	\$0.00
	26/C #14 AWG COPPER TRAY							
61	CABLE, K2	LF	170.00	\$4.07	\$691.90	170.00	\$691.90	\$0.00
62	19/C #14 AWG COPPER TRAY CABLE, K2	LF	500.00	\$2.90	\$1,450.00	500.00	\$1,450.00	\$0.00
63	7/C #14 AWG COPPER TRAY CABLE, K2	LF	450.00	\$1.65	\$742.50	450.00	\$742.50	\$0.00
64	3/C #14 AWG COPPER TRAY CABLE, K2	LF	200.00	\$0.70	\$140.00	200.00	\$140.00	\$0.00
65	2/C #18 TWISTED SHD PAIR	LF	260.00	\$0.60	\$156.00	260.00	\$156.00	\$0.00
66	3/C #18 TWISTED SHD PAIR	LF	370.00	\$0.65	\$240.50	370.00	\$240.50	\$0.00
67	2/C #16 TWISTED SHD PAIR	LF	370.00	\$0.55	\$203.50	370.00	\$203.50	\$0.00
68	48 STRAND-FIBER OPTIC CABEL	ĹF	300.00	\$6.02	\$1,806.00	300.00	\$1,806.00	\$0.00
69	#4 1/C #4 AWG COPPER	LF	100.00	\$1.40	\$140.00	100.00	\$140.00	\$0.00
70	COLD APPLIED PLASTIC PAVEMENT MARKING, 4"	LF	1,216.00	\$2.95	\$3,587.20	600.00	\$1,770.00	(\$1,817.20)
71	COLD APPLIED PLASTIC PAVEMENT MARKING, 12"	LF	249.00	\$10.25	\$2,552.25	0.00	\$0.00	(\$2,552.25)
72	COLD APPLIED PLASTIC PAVEMENT MARKING, 24"	LF	382.00	\$18.25	\$6,971.50	370.00	\$6,752.50	(\$219.00)
73	GROOVE FOR COLD APPLIED PLASTIC MARKING, 4"	LF	1,216.00	\$0.70	\$851.20	600.00	\$420.00	(\$431.20)
74	GROOVE FOR COLD APPLIED PLASTIC MARKING, 12"	LF	249.00	\$5.15	\$1,282.35	0.00	\$0.00	(\$1,282.35)
75	GROOVE FOR COLD APPLIED PLASTIC MARKING, 24"	LF	382.00	\$8.15				(\$97.80)
76	TRAFFIC CONTROL	LS	1.00	\$8,000.00				\$0.00
77	TRAFFIC CONTROL PLAN	LS	1.00	\$900.00		1.00		\$0.00
	TOTAL				\$193 <u>,</u> 786.25		\$176,232.39	(\$17,553.86)

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$193,786.25
CCO #1	\$1,494.15	NET INCREASE/(DECREASE):	(\$17,553.86
CCO #2F	(\$17,553.86)	ADJUSTED CONTRACT PRICE:	\$176,232.39
		CHANGE TO DATE:	(\$16,059.71
Kalaia & Ken	dhlin	le/16/1	<u>′/_</u>
KRM Concrete, 2340 Taggert Road, Rapid City, SD	57701 718-8697	(el, p	ATE
Karplevel		9/16/11	
PROJECT MANAGER: KLARE SCHROEDER, P.E		D	ATE
HUU MM		6-16-	-1,
CITY ENGINEER: DALE TECH, P.E. / L.S.		D	ATE
MAYOR: ALAN HANKS		ח	ATE
MATOR. ALAN HANKS		5	AIL
FINANCE: PAULINE SUMPTION		D	ATE
CONTRACT TIME CHANGE +/-: 0 NEV	V CONTRACT TIME: Day	vs .	

City Staff recommends approval of this Change Order #2F to KRM Concrete for a decrease of \$17,553.86 based on unit pricing with the following appropriation:

initial Funding	\$192,292.10	\$192,292.10
Fund Type	Streets	
Department	8910	
Line item	4370	
Fund	0505	
CCO #1	\$1,494.15	\$1,494.15
CCO #2F	(\$17,553.86)	(\$17,553.86)
Adjusted Funding	\$176,232.39	\$176,232.39

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F 6th STREET PEDESTRIAN CROSSING PROJECT NO. ST10-1865 / CIP NO. 50807 JUNE 10, 2011

ORIGINAL CONTRACT AMOUNT: \$0.00 CONTRACTOR: KRM CONCRETE LLC

LINE		CONTRACTOR. KNW CONCRETE LEG
	DECORIDEION	DE ACON FOR CUANCE
ITEM	DESCRIPTION	REASON FOR CHANGE
	REMOVE PCC PAVEMENT	Less removals necessary due to removals done on Sixth Street project.
		Less removals necessary due to removals done on Sixth Street project.
	REMOVE LIGHT POLE FOOTING	There was one less footing than called for in the plans.
	REMOVE PAVEMENT MARKING,	
	STRIPES	Actual quantity necessary to be removed to comply with intent of the plans.
	REMOVE PAVEMENT MARKING,	
20	ARROW	None required removal to comply with intent of the plans.
21	AASHTO T-180 SOIL. TEST	No change in soil conditions which would require additional tests.
23	EXCAVATION, UNCLASSIFIED	Actual quantity necessary due to change in pccp removement quantity.
26	3'x 4' DROP INLET COVER	Modification of cover design, resulted in less costs for inlet work.
29	9" WATTLES	Actual quantity necessary to comply with the intent of the plans.
	EROSION CONTROL, INLET	
30	PROTECTION	Actual quantity necessary to comply with the intent of the plans.
	CONCRETE WASHOUT AREA	None required.
	PCC PAVEMENT, MEDIAN PAVING	1700
32	4" - COLORED	Actual quantity necessary to comply with the intent of the plans.
1 32	PCC PAVEMENT, MEDIAN, 4",	Action quality recorded to comply that the intention of the plane.
33	COLORED/STAMPED (planter)	Actual quantity necessary to comply with the intent of the plans.
	AGGREGATE BASE COURSE, 3/4"	Actual quantity necessary to comply with the intent of the plants. Actual quantity necessary due to change in pccp removement quantity.
35		Actual quantity necessary due to change in peop removement quantity.
1	CONCRETE CURB & GUTTER,	A third are early uncome to a comply with the intent of the plane
36	TYPE B6-10	Actual quantity necessary to comply with the intent of the plans.
	CONCRETE FILLET & PAN, 10"	A C. I. C.
37	REINFORCED	Actual quantity necessary due to change in pccp removement quantity.
1	CONCRETE SIDEWALK, 4"	A CONTRACTOR OF THE CONTRACTOR
	REINFORCED (with gravel cushion)	Actual quantity necessary to comply with the intent of the plans.
	2' DIAMETER FOOTING	There was one additional footing necessary for pedestrian poles added.
	PRE-FORMED DETECTOR LOOP	Loops are to be installed by the Sixth Street project.
53	24" NON-METALLIC JUNCTION BOX	Combined use of two boxes into one.
	COLD APPLIED PLASTIC	
70	PAVEMENT MARKING, 4"	Actual quantity necessary to comply with the intent of the plans.
	COLD APPLIED PLASTIC	
71	PAVEMENT MARKING, 12"	Actual quantity necessary to comply with the intent of the plans.
	COLD APPLIED PLASTIC	
72	PAVEMENT MARKING, 24"	Actual quantity necessary to comply with the intent of the plans.
	GROOVE FOR COLD APPLIED	
73	PLASTIC MARKING, 4"	Actual quantity necessary to comply with the intent of the plans.
	GROOVE FOR COLD APPLIED	
74	PLASTIC MARKING, 12"	Actual quantity necessary to comply with the intent of the plans.
<u> </u>	GROOVE FOR COLD APPLIED	
75	PLASTIC MARKING, 24"	Actual quantity necessary to comply with the intent of the plans.
_ , ,	1. =	

PREPARED BY: Klare Schroeder, P.E.

DATE: June 10, 2011

COST CENTER	20			
	03	8910		
LINE ITEM	43	70		
FUND	0.5	0.F		
FUND	U51	J5		
	AMOUNT	PERCENT		
DESCRIPTION OF ITEM				
MOBILIZATION	0.00	100%		
INCIDENTAL	0.00	100%		
	0.00	100%		
CLEARING & GRUBBING	0.00	100%		
REMOVE TYPE "B" GRATE	0.00	100%		
REMOVE & SALVAGE LIGHT				
POLE AND TRAFFIC SIGNAL				
MAST, COMPLETE	0.00	100%		
REMOVE & SALVAGE				
PEDESTRIAN CROSSWALK LIGHT	0.00	100%		
SAWING, CONCRETE PAVEMENT				
/ CURB & GUTTER	0.00	100%		
SAWING, CONCRETE SIDEWALK	0.00	100%		
REMOVE PCC PAVEMENT	- 745.80	100%		
PAVEMENT	0.00	100%		
REMOVE PCC PANEL	0.00	100%		
REMOVE CONCRETE CURB &				
GUTTER	0.00	100%		
REMOVE CONCRETE FILLET &				
PAN	-500.00	100%		
REMOVE PCC SIDEWALK	0.00	100%		
REMOVE RETAINING WALL	0.00	100%		
REMOVE LIGHT POLE FOOTING	-75.00	100%		
	0.00	100%		
	-516.80	100%		
	-208.00	100%		
		100%		
		100%		
		100%		
, ,	0.00	100%		
	0.00	100%		
		100%		
	3.00	130 %		
	0.00	100%		
	MOBILIZATION INCIDENTAL CONSTRUCTION STAKING CLEARING & GRUBBING REMOVE TYPE "B" GRATE REMOVE & SALVAGE LIGHT POLE AND TRAFFIC SIGNAL MAST, COMPLETE REMOVE & SALVAGE PEDESTRIAN CROSSWALK LIGHT SAWING, CONCRETE PAVEMENT / CURB & GUTTER SAWING, CONCRETE SIDEWALK REMOVE PCC PAVEMENT PAVEMENT REMOVE PCC PANEL REMOVE CONCRETE CURB & GUTTER REMOVE CONCRETE FILLET & PAN REMOVE CONCRETE FILLET & PAN REMOVE PCC SIDEWALK REMOVE PCC SIDEWALK	DESCRIPTION OF ITEM MOBILIZATION INCIDENTAL CONSTRUCTION STAKING CLEARING & GRUBBING REMOVE TYPE "B" GRATE REMOVE & SALVAGE LIGHT POLE AND TRAFFIC SIGNAL MAST, COMPLETE PEDESTRIAN CROSSWALK LIGHT CURB & GUTTER SAWING, CONCRETE PAVEMENT CURB & GUTTER SAWING, CONCRETE SIDEWALK REMOVE PCC PAVEMENT PAVEMENT PAVEMENT REMOVE CONCRETE CURB & GUTTER O.00 REMOVE CONCRETE FILLET & PAN REMOVE PCC SIDEWALK REMOVE PCC SIDEWALK REMOVE LIGHT POLE FOOTING REMOVE & SALVAGE LIGHT POLE, COMPLETE REMOVE PAVEMENT MARKING, STRIPES REMOVE PAVEMENT MARKING, STRIPES REMOVE PAVEMENT MARKING, ARROW AASHTO T-180 SOIL TEST EXCAVATION, UNCLASSIFIED TOPSOIL & COMPOST MIXTURE, FURNISH & PLACE SEEDING, FERTILIZING, MULCHING, & IRRIGATION C4 3'x 4' DROP INLET COVER -480.00 5.5X5.5 TYPE B INLET 0.00 EROSION AND WATER POLLUTION CONTROL 0.00		

	EROSION CONTROL, INLET		. 1
30	PROTECTION	-1,260.00	100%
31	CONCRETE WASHOUT AREA	-800.00	100%
	PCC PAVEMENT, MEDIAN		
32	PAVING 4" - COLORED	- 723.45	100%
	PCC PAVEMENT, MEDIAN, 4",		
33	COLORED/STAMPED (planter)	312.00	100%
	PCC PAVEMENT PANEL		
	REPLACEMENT, 10" -	*	
34	UNREINFORCED	0.00	100%
35	AGGREGATE BASE COURSE, 3/4"	-437.76	100%
	CONCRETE CURB & GUTTER,		
36	TYPE B6-10	704.00	100%
	CONCRETE FILLET & PAN, 10"		
37	REINFORCED	-3,288.00	100%
1	CONCRETE SIDEWALK, 4"	ľ	
38	REINFORCED (with gravel cushion)	258.55	100%
	CONCRETE SIDEWALK, 4",		
39	COLORED (with gravel cushion)	0.00	100%
	CONCRETE SIDEWALK, 4",		
40	ACCESS RAMP	0.00	100%
41	DETECTABLE WARNING PANEL	0.00	100%
	CONCRETE TYPE C RETAINING		
42	WALL (0-2')	0.00	100%
	IRRIGATION CONDUIT - 2" PVC		
43	SCH 20	0.00	100%
44	(ELECTRICAL)	0.00	100%
45	2' DIAMETER FOOTING	480.00	100%
46	3' DIAMETER FOOTING	0.00	100%
	PEDESTRIAN CROSSING SIGN		,
47	(R10-3E), 3RT, 1LT	0.00	100%
	3-SECTION VEHICLE SIGNAL		
48	HEAD W/RIGHT ARROWS (13-14)	0.00	100%
	PEDESTRIAN SIGNAL HEAD (9-12)		
49	LED TYPE COUNTDOWN	0.00	100%
50	PEDESTAL SIGNAL POLE	0.00	100%
51	PRE-FORMED DETECTOR LOOP	-1,304.00	100%
52	PEDESTRIAN PB POLE	0.00	100%
	24" NON-METALLIC JUNCTION		
53	BOX	-293.00	100%
54	2" RIGID CONDUIT, SCHEDULE 40	0.00	100%
	BORING UNDER EXISTING		
55	ROADWAY	0.00	100%
56	3" RIGID CONDUIT, SCHEDULE 80	0.00	100%
57	4" RÍGID CONDUIT, SCHEDULE 40	0.00	100%
58	1/C #6 AWG COPPER WIRE	0.00	100%
	1/C #10 AWG COPPER WIRE		
1		1	
59 60	(PULL WIRE) 3" RIGID CONDUIT, SCHEDULE 40	0.00	100% 100%

	26/C #14 AWG COPPER TRAY		
61	CABLE, K2	0.00	100%
	19/C #14 AWG COPPER TRAY		
62	CABLE, K2	0.00	100%
	7/C #14 AWG COPPER TRAY		
63	CABLE, K2	0.00	100%
	3/C #14 AWG COPPER TRAY		
64	CABLE, K2	0.00	100%
65	2/C #18 TWISTED SHD PAIR	0.00	100%
66	3/C #18 TWISTED SHD PAIR	0.00	100%
67	2/C #16 TWISTED SHD PAIR	0.00	100%
68	48 STRAND-FIBER OPTIC CABEL	0.00	100%
69	#4 1/C #4 AWG COPPER	0.00	100%
	COLD APPLIED PLASTIC		
70	PAVEMENT MARKING, 4"	-1,817.20	100%
	COLD APPLIED PLASTIC		
71	PAVEMENT MARKING, 12"	-2,552.25	100%
	COLD APPLIED PLASTIC		
72	PAVEMENT MARKING, 24"	-219.00	100%
	GROOVE FOR COLD APPLIED		
73	PLASTIC MARKING, 4"	-431.20	100%
	GROOVE FOR COLD APPLIED	To the state of th	
74	PLASTIC MARKING, 12"	-1,282.35	100%
	GROOVE FOR COLD APPLIED		
75	PLASTIC MARKING, 24"	-97.80	100%
76	TRAFFIC CONTROL	0.00	100%
77	TRAFFIC CONTROL PLAN	0.00	100%
		(\$17,553.86)	